Wgeltt. o

1Sy
1

]_

Ile]

4

H]

i
“d

VE-2,b= \5- V3 1

a2 a

adb

<

Vi

>

Al



min
<+
olJ
i~

® 1-+2

@ -0.5

D V2
@ 2+ V2

® 1+ 2



oS & F Ao tia AV 28 AL T 12H?
D VI5+1<2Vi5-1 @ 2V5+ V7> V5+27

® 3V5-4V2<4v5-3v2 @ 3vV5-3>5V5-2
® 3-+410<5-2+10



P

A
o
f{)

SO

D a-b>0
@ ab>0

@ b-a<0

® a+1>0

Ta, b7ta=V8-3,b=-Vi+ VB4, s F 22

=1

@ b+ V7>3



5.

3<Vx<4E

o3

-

P o
=7

@ 9

® 10



4 x7F a2t 2 W, a 9] gL& F-ShefEth



A

=AM 4 A B C9H
= =]

TAE Yetd Zew &

A
Al

%

o u=)

At
TN
[y

a
9

A

e
=
i)

lleS
ol

A=V5+V3,B=V5+1,C=3+13

@ C<B<A ® B<A<C

P



P
ro do

FAFa=4-Vi,b=2c=4- VB tha PAR &2
?

D a<b<c @ a<c<b @ b<a<c

@ b<c<a ® c<a<b



9. o

F % 450 g4 BAVL BA 27

oo

D V6+2<V6+3 @ 4-VT<2V7-2
® 2V3+3<6V3-5 @ 25— V8 < V20 +3+2

® 3+ V3<10- V12



10. o= 5 A TAZE 82 A0
D V24>5 @ V10<3
1 1
® -vV19 > -4 @§>$

® V2-2<+vV3-2



@ 4V3-1>3+ V75

O 4-VI2<1+4 V3

® -2+3V3<2+ Vi2

@ -3VT+ V2> -VT-1V2

0,60 0066 006 ®Woe 066




12.

=

D V3-1<V3+1
® V5-2>5-1
® V2+2<2v2

oo
ol
4
>
lo
=
B
=)
o
i
E_‘
;
T
k)
e
Sl
o
ko
4
k]
|
2



13.

@ A>C>B

® C>A>B

® B>A>C

A7}



14.

6<x<10, 2< Vx <3= A AEsh= Adr x5 2

a}

o e

o e






16. V50 < x < V1005 T=Eoh= 24 x 0] 745 Aotefet

5
=%



17. 7< V10x < 9% A4 x 9] /H4F ot et

5
3%



